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WU - 31 / SECTION - A
TS Wy / Objective Type Questions

¥ e 18 70 ﬂ#r-nﬁiﬁma}muwﬁmﬁ?wé‘. ford & TF
Wt &1 s grr 93 W W@ frwew o oMR e wv fufd W AR

35 °¥t &7 39w 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any
L%

35 questions. - : 35x1=35

1 Fmfifea 3 3 fea® g d@,m 6 gomd f adt @ 2
rm" F< g (B) W % gwl g
(€) =i gW (D) ¥ g
By which of the gl AR SOwEeR

(A) Tubers | (B) Cfmé of :stems

(C} Bulbs (D) Seeds
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[T
fPreafiea 1 ] 19 50, % v A kg A 2 o

(A} HE® | (B)  umdwfRa

(C) =@ s (D) et &
Which of the following is affected by SO, pollution ?
(A)  Nucleus (B) Mitochondria
{C)  Chloroplast | (D) Golgi bodies
Frefofea 3 @ o om @ e g & de B ol 2o
a) fewam @) s %=

€ S (D) W&

Which of the folle)wing is the period between birth and death ?
(A) Life cycle (B) Life span

(C) Birth rate (D)  Propagation

Freferfa # & fire wts % g wdieh St w1 fraw da 2 2

(A) LH (B) FSH
(C) Wkifdza (D) GH
25A/12/101 Page 4 f_‘*ﬁ
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a i t

(4)  LH

(C)  Prolactin

Which of the following cannot pass through placenta ?

5.
(A) Ui
(C) e
(A)  Alecohol
(C) Iron

6. :ﬁﬂﬁﬁﬁﬁiﬁii?%!?ﬁﬂﬁﬁhﬁﬂ?ﬁmﬁlﬁﬁqﬁﬂmﬁﬂﬂﬁﬁﬁ1;

(a) Taem

(C) Tafaum

(B) FsH

(D} GH

ﬁnﬁ‘cﬁﬁﬁﬁaﬂqmﬂsﬁﬁwﬁﬂmm%?

(B) aHr 3

(D) =g wfaeft

(B} - Fatty acids

(D) -~ Maternal antibodies

(B) IdafEdq

(D) i

Which of the following is an important factor in the formation of

new species ?

(A}  Isolation

(C) Variation

(B) Mutation

(D) Competition

| 25A/12/101
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Ly,
7 mﬁﬁmﬁmﬁmwfmﬂl}*mﬁﬁnﬁg; '
(A}  Hgw (B) dqa .
C) = (D) fe
The opening of which of the following is known as blastopor, -

(A}  Gastrula (B) Morula

(C) Blastula (D) Neural
8. P 3 3 2wl s 4 5
A) GarT B) C=G
(C) G=C D) AmT
Which of the following is a correct pair ?
A G=T B) C=G
(C) G=cC : (D) AeT

9, T 498 %H gofia RNAR ?

(A) m-RNA (B) rRNA
(C}] c¢RNA (D) tRNA
57 40
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Which of the following is a soluble RNA ?
(A) m-RNA (B)  r-RNA
(C)  oRNA (D) -RNA
10. FeRRET # A B9 o & S ¥ pferieres w0 B 2
(A) " T (B) wwEA
(€ foge wah (D) & @i

By which of the following bonds are the nucléotides of DNA

attached ?
(A) Hydrogen (B) Covalent
(Cy Electrovalent (D) Al of these

1., ol & o st s & e 8 2
(A) v&ft wE foeelt % @
B FERYHE
(C) THMEE % U@ R W & ¥

(D) @&l

[ 25A712/101 Page 7 / 40
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Which of the following is an example of analogous Organs 3
(A} Wings of birds and butterfly

(B)  Tail of dog and cat

(C) Wing of bat and hand of man

(D)  All of these

12, frafafes & 4 e g Segnl 3 wom gm 2 2

\[J/nq/aa (By.ﬁz.

(C) & (D) (B) 3 (C) I
By which of the following is water hyacinth pollinated ?

(A) Water (B) Insect
(C} Wind _ (D)  Both (B) and (C)

13. e dd i nE N EdN am e

(A) @ (B) fEs
(C) &m (D) TH
25A/12/101 Page 8/ 4
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In which of the following are male and female flowers found on the

same plant ?

(A)  Cucumber (B) Coconut

(C)  Brinjal (D) Tomato
14.  fafefaa 4 | fre me @ e f qmEm R 2

(A) T (B) 3

© TH ﬂ{wﬁ

On which of the following planets is there a possibility of life ?

(A) Mars o (B) Mercury

(C) Venus (D) Jupiter

15 Qrfieeat frefafias § @ frad gafia 2 ?

/o SR

() @f (D) &
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Which of the following is related to pomiculture 2
(A)  Silk (B}  Fruit
(C) Vegetable (D) Flower
16. frafafen § & 9w uffufs @ % s aes d -
(A) 99 (B) ¥4 *1 yam
€ = (D) 3EH
‘Which of the following is a biotic component of ecosystem »
(A)  Air (B) ~» Sunlight
(C}) Water (D)  Producer

17, - ffafea #§ & #7 agf woeh 2 2
(A) e (B) WFR
€ fawm (D) féeft

Which of the following is a marine fish ?

(A) Catla (B) Mangur
(C) Hilsa (D)  Singhi
25A/12/101 Page 10/
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18. ﬁ'ﬁﬁ‘-’{ﬁ‘gﬁﬁﬂaﬂqwmm%?

[119]

&) W

(B) R
(C) < D)  gHfres
Which of the following is a source of quinine ?
(A)  Canabig (B) Cinchona
(C)  Poppy | (D) Eucalyptus
19. FT AR ward et o e & 7
(A) om | B) v

€) Wﬁﬁ%ﬂﬂu . (D) srrs ¥ER ()
Where are woody ﬁanas / climbers found ?

(A)  Taiga = " (B) Deciduous forest
(C) Tropical rain forest . (D) Shrub (chaparral)

20, Prerfria & Ry wach dt 3 ook g w0 & 2

(a) T R B e R
€ x-fem (D) g & dowt
[ 254/12/101 ' Page 11 / 40
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1
Which of the following is used to induce mutation in Crop Plap,.

(A) Gammg rays (B) Alpha rays
€ Xerays (D)  Sunrays
21. RS 3 3 v g P e e v 8 2
@A) wmgs (B) 3w
(C) 3] ' (D) 3m
In which of the t‘ullnﬁng does ircgetative prnpagatinn-takc piz,
 through tuber ?
(A)  Garlic ® Amorphophallus -
(C ]. Potato (D)  Mango
22. ﬁ%ﬁﬁﬁaﬁwmm% PR s
&g e s 2 2
A) e B) wr
(C) faesh (D) WM B
[[25A/12/101 Page 12/ 4
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| [ 119]
Which of the fo]lﬂwing terms

L '8 Used for the population found in a
PEJ'tlﬂ*Ltlar freg 2
(A)  Naty
i (B}  Endemic
(C)  Alien

(D)  Pandemic

23. ﬁqﬁfﬁaﬁﬁﬁﬂqﬂmﬁmm-%ﬁ@ﬁpﬂm%wﬁmw
wl cwiar & »
(A) 3:1 B) 1:3
€ 1:2:1 S~ 1

Which of the following represents phenotypic ratio of F, generation

in case of codominance ?
(A) 3:1 . (B 1:3
C 1:2:1 (D) 1:1

. Frefian 3 & 7 S a0 ST % e 3 e & 2

(A) ZrEeEA (B) gl
(C) TfrheA (D) grHsEH
25A/12/101 Page 13 / 40
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' l1-
the following is related to the formation of RNA by
h’,:l._

Which of

(A} Translation (B)  Transcription

(C)  Replication (D}  Transduction

25. ffafea % & S wdfa dmees 2 2
(A)  wHsHifsam (B) guifan
(C) @wmrsfay (D) wfFafn
Which of the following is a pathogen of malaria ?
(A)  Plasmodium (B) Wuchereria
(C) Sacromyces {D)> ‘Puccinia
26. f=fafaa 4 e g0 aaifes @R Il w1 srwiew g & 2
Ay e T . (B)  WEA A
(C) o™ M (D) Y& A

Which of the following absorbs the maximum amount of sola

energy ?

(A) Plantation (B} Cropping

(C} Growing grass (D)  Culturing algae
l"25A/12/101 | Page 14 / 40
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27. ﬁ”ﬁﬁm-mmmﬁﬁhﬂ%ﬂﬁ%ﬁq gem % neg o Aar X ?
(&) < B) i

©) e D) AR

i : of
Which of the following elements is present in the centre

porphyrin ring of chlorophyll ?
(A) Iron (B) Manganesec
(C) Copper (D) Magnesium
ss.  freian i & e 2 3 e e O, 1 9w & 2

(A) C-3 " @B c-

(C) C-6 o) T awh

In which of the following plants is there phosphoenol pyruvate

receptor of CO, ?

(A) C-3 (B) C.‘“
(C) C-6 (D) All of these
[(2sa7127701 Page 15 / 40
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29 TN 3 oghemf ) wpfa AR 2 2

A mforg @) ffr

© P ) T A B A

What is the tendency of endosperm in gymnosperms ?

(A) Haplu;d (B) Diploid

(C) - Triploid (D) - None of these
30. Fefefed 44 9 e / Qu i 2 7

&) e (B)- \Hw. 3

(C) IHuu. (D) Cafyfhs dfis

Which of the following is a stress hormone ?

(A)  Ethylene B) GA3

(C) LAA.. (D) Abscisic acid
31. ﬁn%ﬁaaﬁﬁaﬂqaﬂshqm%gm‘rﬁmaﬁm%;f

@A) 80, (B) CO,

(C) fraiA D) w#awh

25A/12/101 - Page 16/
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Which of the followy; o
Ing ig most harmfy) to the ozone layer ?
i r -r
{A] SDE
B)  co,
(C) . Freon

(D) All of these

(A) Ix
(B) am

(C) dgam D) g
Which of the following is related to Kaziranga National Park ?
(A) Lion | (B)". Tiger
(C) Panther - (D) Rhinoceros
33. WA H Witw damvea frad £ 2
(A) 10 (B) 18
(C) 23 (D) 41

What is the number of bio-reserves in India ?

(A) 10 (B) 18
() 23 2 L
@A,’lz,ﬂ’lﬁl Page 17 / 40
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34.  Buafefian § @ @ qmgvm a1 o & 8 2

(A) T (B) ¥

(C) Fetmm (D) TR
Which of the following fixes nitrogen ?

(A)  Anabaena (B) Ulva

(C)  Ulothrix (D) Spirogyra

35. 3T MR 1w R 2
() FREA Y g e 2
(B) 7@ a7 % effyfemm & i 2
C) 3= hi FRHIET #1 arg 2 2
(D) ¥ & ¥ e w7 wea 2
What does Cry-toxin do ?
(A)  Swelling of cells
(B)  Binding of epithelium of midgut
(C)  Lysis of intestinal cells

(D)  More than one of these

| 25A/12/101
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36 ﬁﬁ%ﬁgﬂﬂﬁmﬁ (119 ]
T it
(A)  ST3Eifi Eﬁﬁ‘ﬂmamt?
B s greair
(C) Uwif
D) wefreiifoes

(B] Double trisomic

(D)  Nullisomic

37. W § & R Rt g S st w1 R e & 2
(A) B By “frw i
© I _ (D) ¥ & B 7@
By which of the following methods do cancer cells divide ?
(A)  Mitosis (B) Amitosis

(C) Meiosis (D) None of these

38, fiofafed § @ | AR FEH 8 ?

(A) UGA (B) GUA
() AUG (D) FHA wf
_25A712/101 | Page 19 / 40
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Which of the following is an initial codon ?
(A} UGA B) GUA
(€) AuUG (D)  All of these

39. ‘SIS e w1 wfed feem fehar 9t ?

sy v (B) R A
(©) =rd srfA (D) =

Who coined the word ‘biology’ ?

(A) - Aristotle (B) Gregor Mendel
(C)  Charles Darwin (D) Boveri

40. Frfain 5 & fead weey ficft wif’ 4 2 2
(A) T (B) 3OS

© wa s hﬁn/fgﬁﬁn

[

Which of the following is related to the ‘Yellow Revolution’?

(A) Milk (B) Egg
(C) Fish (D) Qilseeds
I
25A712/ 101 Page 20/
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a1 R A i s o o 8 5
WTIT (B)  =efl

(D) =

From which part of the plant is clove obtained ?
(A) Flower (B) Bud

(C)  Fruit (D) Seed

42, Freforfen § & e adm o 3 S § am ) w1 w0 & e

i
(A) WA ‘_[;.}/ AR
C) W (D) TR

Which of the following is used to reduce the amount of cholesterol

in the blood ?

(A) Statin " (B) Cyclosporin

Streptokinase
(C) Lipase (D) P

[25A712/101 |
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43. f=fafiaas § 4 993 aREenia &1 WM 8 ?
(A) %A _(By wREEH
(C)  qwaTEq (D) IHE
Which of the following is a part of the perianth ?
(A} Petal (B) Tepal
(C)  Thalamus (D) Stamen

4. wgs ¥ Fafafa § @ S-f Siee 1ffa 960 2 5

(A) a1 S - (B) . =R

€ 33 Fifrn @/Wﬁﬁm

Which of the following human cells is motile ?

(A)  Nerve cell (B): Cutaneous cell

(C) Egg cell (D)  Sperm cell

45. TW 4 @ F fem-agem o 2
(A) TR (B)  sorfean

(C) TH (D) 319 & oft

| 25A/12/101
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(A) Anaemia

[119]

Whi o
hich of the following is a 8ex-linked character 7

(B) Colourblindness

5 Baldics (D)  All of these

46. Frffe § 3 W e dhar 4 -
A TR B
© == (D) &fRfan
Which of the following is a living fossil ?
(A)  Amphioxus ' (B) Varanus
(C) Lamprey . (D)~ Latimeria

47, Brefufen # 8 #9-d e g & wwie w3 T A2
A) 0, (B) CO,
©) H, D) N,
Which of the following gases was not present in the early period O
the earth ?
(A) O, (B) CO,
(C) | H, (D) N,

25A/12/101 | Page 23 /
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48, ﬁm%%aﬁﬂ%ﬂmmmmﬁmamhﬁmtp

tllg]

(A) ST v e JBI  E @
(C) R 7ol 3R wedt g (D) a1 goelt 3N =
Convergent evolution is demonstrated by which of the fﬂ]luwing 5

(A) Bacteria and protozoa (B) Ratand dog

(C)  Starfish and cuttle fish (D)  Dogfish and whale

49. ﬁmﬁwﬁaﬁﬁﬁaﬂqwﬁmmmt?

(A) Yo are
(B) = Yy

J,Qf/ = § 7 & 9 go

(D) ¥ @ oft

Which of the following is an example of atavism ?
(A) - Curly hair

(B) Long hand
(C) A baby born with a small tail

(D)  All of these
25A/12/101 - ~ Page24 /40
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50. AME STEfya
| el R s
(A)  ufverd g
(B gra

() ST w o %

Where
Arc mangrove vegetation found ?

(A) Western Ghat (B) Sundarban

(C) Dehradun Valley (D) Kullu

51. frafafea § A R srgsmm el @ g ?

1y T [k ik

©) I g W ) e e

In which of the following does secondary succession take place ?

(A) Onsand (B) In degraded forests
(C) On bare rocks (D) Newly formed ponds
25A/12/101 Page 25
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52. Frfeiften d #% grgpy dm 3k & 2
() e B)  wRfern
(C) fifEam (D) uifeafyn
Which of the following is an excellent biofertilizer 7
(A) Azolla (B) Marsilea
(C)  Pteridium (D) Salvinia
53. ﬁm%ﬁaaﬁ‘#aﬂﬂgw%ﬁamﬁqsﬁqyigqﬁltp

(4) i g B) f¥hsh

€ Tehgsm@ym (D) wWiAwh
Which of the following is,a significant trend in human evolution
(A)  Upright posture
(B) Binocular vision
(C) Increasing cranial capacity

(D) All of these

25A/12/101 Page 26 / 40
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o mﬁéhmﬁmaﬂﬂﬂ

[ 1191

i g uififa i A R 2

(A)  Tguey

(B) wg@wEn
° (D) fa@ozm
Which of

the t‘nlluwing types of reproduction takes place in Amoebd

+ under favourable condition ?
(A)  Fragmentation (B) Multiple fission

(C)  Budding (D) Binaryfission
55. WAl H T GEar Hel fHewia g g ?
(A) T B A

(C) TEHIE (D) B 5= A

Where does capacitation of human sperms occur ?

\w/ | Testis (B) Vagina

(C) Vasdeferens (D) Female genital tract

25A/12/101 | Page 27 [ 40
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56. frfafaa § @ feud gro ggal wigl = e & g R o

(A) W # g B qaE
() T gmw (D) Fu%

Which of the following can lead to the developmen: of

brothers ?
(A)  One zygote (B) Two zygotes
(C) Without zygote (D) Gamete

57 fraffes 4 @ fras gr i Qe 990 S F E ?
(A)  GErch it (B) 3Tl JHedl

(C) T il D) e wfmE

From which of the following do developing sperms get

nutrition ?
(A)  Sertoli cells (B) Germinal epithilium
(C) Blood cell (D) Leydig cell
[ 25A/12/101 Page 28
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58, Pt Eilﬁﬁm“@q-mﬁimﬁﬁﬂm&ﬁ faparr o 2

SR (B) 3=, M

Icf S (D) TH. A=W

Who Bmong-the following propounded the terms muton, cistron

and recon ?
(A)  J. Lederberg (B) W.Ingram
(C} Bateson (D) S. Benzer

so. Pmftan i A W R i g @ e o ww R E w2

(A) 9IS WEE B) TR EH

() wodl D) wHF W
Which of the following can live at more than one place in a trophic

level of an ecosystem ?

(A) Phytoplankton (B) Zooplankton

() Fish (D)  All of these

| 25A/12/101 Page 29 / 40

by:BSEBResult.In



o

60. TfEa ¥ uvreafid # ygfr w0 Ef & 2
(A) g (B) 9N
©) TR (D) wi A Frf T

What is the nature of mesocarp in coconut ?

(A) Hard (B)] Fibrous

(C) Fleshy (D) None of these

61, Frefifas § ¥ fead gt 1 fufor g1 g

(A TR
(C) T HN (D)  afde

Which of the following is responsible for formation of ,

(B) U

androecium ?

(A) Stamen (B) Pollen
(C) Pollen sac (D) Style
62. A # HEeT™ Qg hl HEH FI1 8§ ?
()46 B 22
(C) 92 (D) 23
—
Page 30/
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(B) 22
& (D) 23
63. ﬁnﬁﬁmwﬁ%mﬁm“
i = (B) 2n
(C) 4n | O) /2

Which of the following represents the basic number of

chmmoanmcla? |
(A) n (B) 2n
(C) 4n | | (D). “n/2

os, Pt 8 % Lad operon § p AR W BET TR ?
(A) .z-iﬂ? (B) o
{C} y-Si D) i
wﬁich ::;f the following does m&;ng of p-galactosidase in lac

operon ?

(A) 2z-gene (B) a-gene
(C) y-gene (D) i-gene

by:BSEBResult.In



65. Frafifiad § @ ®¥7 A d=nfa Im (STD) R 2

(A)  fawfem (B)

(C) (A) 3R (B) I (D) & @ Frd 7

Which of the following is a sexually transmitted disease (s7p,
| #

(A)  Syphilis (B) Gonorrhoea

(C) Both (A} and (B) (D) None of these

6. P o fre &R 0T HRIARY Sefiad T H e am

(A) 8-HIHE YA (B) 32-HIfrE YU

() = (D) WS Al 8-HIfiEh b

At which of the fc}ll-::-w:';lg stages is the embryo transferred

fallopian tube ?

32-celled embryo

(A) 8-celled embryo (B)
(C) Zygote (D) Zygote or 8-celled embryt
25A/12/101 Page 3
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(B) s
(C)
e Iy Fawifierf)
Which of the following refers to the scientific study of human
population ?
(A)  Geography (B) Geology
(C) Biology (D) Demography

68. mﬁﬂwﬁmmmﬁmm%?
@) B) wwIE
(G T (D) -¥@ 8w
is the colour of skin determined in

By which of the following means

human being ?

(A) Quantitative (B) Multiple gene
(C) Qualitative (D) All of these
25A/12/101 Page 33 / ¢
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69, '{ﬂpﬁﬂ o g-vmEiTr 8 w94 g ’
(A) 2 ﬂﬂ?—[—ﬁ Y IEC] (B) ] Hﬂifﬂ, ] I{é:m F-irq~
(€1 2 vyt favrer (D) 13“ﬁﬁﬁ-‘“mqﬁ'hﬁ
] }_.I

How are 8 ascospores formed in Neurospora ?
(A) 3 Mitosis (B) 1 Mitosis, ] Meiog;q

(C) 2 Mitosis (D) 1 'Meiosis, | Mitosis

70.  Wigen S w0 T g9 HL W wEd § 2
(A)  gfefiard (B) Siefmrd

(C) TS (D) TEEmTS
What is man with female characteristics called ?

(A) - Polymorph (B)  Jollymorph

(C)  Gynomorph (D) Gynandromorph

| 25A/12/101 |
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WU¥ - g / gECTION - B

Ay
I vy Bhort Answer Type Questions

Wmlﬁzﬂwmffﬁﬁﬁ‘mmﬁ%m#:m*ﬁ?

2 3F Fifa & : jox2 =230
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions:
Each question carries 2 marks : 10%x2" 20
1, WEATFIE?
What is morula ?
1+1

0. o % fRl & wmit = IgE

Mention any two benefits of self-pollination.
3, Bema (mﬁ}ﬂmwmﬁﬁ ?
What do you mean by Camouflage ?

s § g Sftal 1w e R P

What is the importance of micro-organisms in research ?

“35A/12/101 |
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5.  Rafi ®u A wuiafa a=gal & frdl & Tt 1 3P = ]

Mention any two advantages of genetically modified animalg

6. feTheet favgiy wn g ?

What is Klinefelter syndrome ?

7. Tl =R waml % 9W % dmive am &y ol i
Write the names of any four spices along with their scientis,
names.

8. R 3t wEEeH € IR ford | B
Writ.e two differences between ontogeny and phyllogeny.

9, 1%%#1ﬂFrqﬁﬁnnitﬁmqﬁéiamnrﬁmil 1+1

Write any two symptoms of sickle cell anaemia.

10, A ITEAFE ?

What are sacred groves ?
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| 11.

N ahorfh X aen 2 geren frd

Define co .
mmensalism and write two examples.

1+l

e € 2 el o e ol s g Ayt 35 R

12.
What are pathogens ? Write the n.amt:a of any one plant and on°
animal pathogens.
13, e ® afonfa w
Define germplasm.’
i4, S FE? ‘
What is Gene library ?
st e Pt 2 P o 1 3
Menti;:rn any two harmful effects of sewage.
16, TS HIE P
"?«’hat is mycorrhiza ?.
17 Yo o G I e 82
What is the ;mpnrtanct of Red Daﬁ Book ?
25;1;1;; 101 | T
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18. i wd dtomam #§ 9 ) o ford

Write any two differences between integument and testq_

19. DNA 3t s-DNA & ®1f 3 I WE Hil

4 .

Explain any two differences between ¢-DNA and s-DNA,

20, WMwfmwng?

What is epistasis ?

g F9q W9 / Long Answer Type Questions

ovT WEAT :zxﬂzsah‘amhmffﬂr%?am#*mé‘ | BRI & iy
s st Fraffa &1 FoT. w120 =i 7 fi AT 3 %5215

Question Nos. 21 to 26 are Long Answer Type Questions. Answer an

3 questions. Each question carries 5 marks. Give your answer in abou

120 words. 3x5=1;
21. Tﬁaﬁﬁmﬁm#?wﬁwﬁﬂ:ﬁmﬁqﬁsﬁ:ﬁmmaﬁ
| | +2+1

What do you understand by ground water ? Describe the causes ot

its depletion and remedies.
_-_-?i
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22.

23.

24,

['IIE.;'

Explain the differences between any two of the following :

. (a) Food chain and food web

(b)  Primary producer and Seconddry producer

(c) Aestivation and‘Hibernation.

I TN % 3 YO G S T AR STE Wegd Hi

Present a neat, clean and well labelled diagram of embryo inside

human uteruf:-.. |
et fom Frafor o s w1 ol

Describe the process of sex-determination in honeybees.
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25. @:ﬁﬁsﬂmmmﬁmmmg@%

present a well labelled neat and clean diagram of recombing,,

technology.

06, Sa-TEEIEO F HiH 9O H)

Describe biofortification in brief.

faere a1 A ddfda @aft crarrdt,
BT G, %51 U, , vefie

fepiiR® Trreae s s Iad
Uz UTat & ...
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